
θ = 1.22
λ

D

θ λ



μ
μ

≥ 30

8 1.8

B/λ B



λ

u =
Bx

λ

v =
By

λ

arcseconds−1 cycles/arcseconds

V (u, v) =

∫
dαdβA (α, β) F (α, β) e−2πi(αu+βv)∫

dαdβA (α, β) F (α, β)

α
β

| V | φ
(V)

V =| V | (cos φ + i sin φ)

FT [I1 (α, β) + I2 (α, β)] = V1 (u, v) + V2 (u, v)

FT [I (aα, bβ)] =
1

ab
V (u/a, v/b)

FT [I (α − α0, β − β0)] = V (u, v) e2πi(uα0+vβ0)

FT [I1 (α, β) ∗ I2 (α, β)] = V1 (u, v) · V2 (u, v)

(α0, β0)

I (α, β) = δ (α − α0, β − β0)

V (u, v) = e−2πi(α0u+β0v)



ρ =
√

α2 + β2

r =
√

u2 + v2

v (r) = 2π

∫ ∞

0

I (ρ) J0 (2πρr) ρdρ

V (r) =

∫ ∞
0

I (ρ) J0 (2πρr) ρdρ∫ ∞
0

I (ρ) ρdρ

r ρ I (ρ)
J0

V (r) = J0 (2πρ0r)

ρ0

μ =

√
1 −

(
ρ

ρmax

)

ρmax μ
μ = 1

V (r) =

∫ 1

0
J0

(
πrθ

√
1 − μ2

)
μdμ∫ 1

0
I (μ) μdμ

θ

V (r) = 2
J1 (πθr)

πθr

1



I (μ) = 1 − a1 (1 − μ)

I (μ) = νa2

μ a1 a2

a1



a1 = 1.5

ΔΦ
π

2
1 2

2 3
1 2



Φ (1 − 2) = Φ0 (1 − 2) + [φ (2) − φ (1)]

Φ (2 − 3) = Φ0 (2 − 3) + [φ (3) − φ (2)]

Φ (3 − 1) = Φ0 (3 − 1) + [φ (1) − φ (3)]

Φ Φ0 φ
1−2

2 − 3 3 − 1 2

CPh (1 − 2 − 3) = Φ (1 − 2) + Φ (2 − 3) + Φ (3 − 1) = Φ0 (1 − 2) + Φ0 (2 − 3) + Φ0 (3 − 1)

closure phase



bispectrum
ijk

B̃ijk = ṼijṼjkṼki

0◦ 180◦

(1-2) = (1-2) + [ (2)- (1)]

Observed Intrinsic Atmosphere

(2-3) = (2-3) + [ (3)- (2)]
(3-1) = (3-1) + [ (1)- (3)]

(
N
3

)
=

(N) (N − 1) (N − 2)

(3) (2)

(
N
2

)
=

(N) (N − 1)

(2)

(
N − 1

2

)
=

(N − 1) (N − 2)

(2)



−180◦ 180◦

binary point − symmetric
0◦ 180◦

0◦ 180◦

0◦ 180◦



0◦ 180◦

0◦ 180◦

0◦ 180◦
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